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SCIENCE
I : 3:15 €0 qurid : 80
TRl & fag M= e —
GENERAL INSTRAUCTIONS TO THE EXAMINEES
1. GRIeTRIl FAYR 31U Uee UF UR AMid JAfTarid: ford |
Candidate must write frist his/ her Roll on the question paper compulsory.
2301w et # |
All the questions are compulsory.

3. Ud YT HI IR &1 T8 IR YRAdT H &1 fored |

Write the answer to each question in the given answer Book only.

4. RS9 gg=i # srdR% wWvs & S I & SR U AT 8l fore |

For question having more than one part, the answers to those parts are to be written togeather in

continuity.

5. e U & 31 9 3 wu=R ¥ Bl gpR 31 Ffe /=R / fREm 8 R 2=
AT & YL Pl B ALl A |

If there is any error/difference/contradiction in Hindi & English versions of the question paper, the

question of Hindi versions should be treated valid.
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Igfadedl ye—

Multiple Choice & Question-

1. AT # GG (Bhs) fd o 1 AN 8?

(1) dryer @) SO

(|) vaad (@) uREaRoT
The Lungs in human beings are part of the system for

A. Nutrition B. Excretions

C. Respiration D. Circulation
2. 91 % & BT UIRY ERAM 77

@) s=gfer (@) eI

(¥) wegroTT (3) SmarfrT
Among the following which is plant Hormones-

A. Insulin B. Thyroxin

C. Estrogen D. Oxcin

3. DI ¥ IS BT AFARIGAT BT T d ded o°

(@1) deaT (@) dvsd

(@) Wt (T) Heclw
Which Scientist is called the" Father of Genetics"?

A. Bateson B. Mendel

C. Morgan D. Mendeleev

4. 991 9 9 {59 ERE BT SUART WIST JTo7 # giar 272
@1 RreR THES @) AIfsTd FaREsS
(@) MM FIRSS (@) dfpT et

Which chemical used in photography

A. Silver Bromide B. Sodium chloride
C. Amonium chloride D. Baking Soda

5. TR 3% URY BT YNNG T 8-
(&1) CaSo, 2H,0 (@) Caso, ¥ H,0

(T[) Na, CO; 10 H,0 (_QT) Na,CO;
Which is the Chemical formula of "plaster of Paris"?

A. CaSo, 2H,0 B. Caso, % H,0
C. Na,CO;10H,0 D. Na,CO;

6. = # ¥ S T4 -
(@) O, @) Ha

(@) He () Co,



Example of Noble Gas

A. 0, B. H,
C. He D. Co,

7. fod varei geT & HROT U # X e g9 fewrdt 77
(31) TRTaH (@) waE
() faergor (@) 3rgac=

Why apparent displacement of a pencil Partly immersed in water
A. Reflection B. scattering
C. Dispersion D. Refraction

8. WRY 7 B b W W a%g BT AR aar 2

(@1) sficuea w @) sfeuca & |
(%) gfecued & 0o @) #18 Ffed =2
In which part of normal @ Human Eye areal Image form —
A. At Retina B. In front of Retina
C. Behind the Retina D. None of Above
9. fayga wfh F1SI 93 o
(31) 51 (@) arc
(%) wfrrR (<) dreT
SI unit of Electric Power
A.Joule B. Watt
C. Ampere D. Volt
10. 1 9 ¥ DI Td@HoTT w6 § —
@1 |R Sl (@) DRI
(@) tgie (@) sl i
Which in renewable sources of Energy?
A. solar Energy B. coal
C. Petrol D. Natural gas
11. 59 § & %17 oTeR sfwen w1 fmio o 82
(a1) &I, T, e 3TH (@) =G, SR qT A
() SR, T AT gLt (c) =9, ! adn TR
Which of the following constitute a food-chain?
A. Grass, wheat and mango B. Grass, goat and human
C. Goat, cow and elephant D. Grass, fish and goat
12. foadt st o 3~
(a7) T W () T T

() | = ™ (€) e IS W



Tehri dam is built on-
A. river Ganga B. river Narmada

C. river Son D. river Chambal

Q2 b wIF @l gfef =T —
Full fill the blank spaces -

1. HTEA-TRTET THS TEGHT ATE <o) FEA B |

Compounds containing carbon-carbon single bond are called ........................ .
2. WHA] & 6T DIRT # Folag™ @ ARAHTT TR AT BT BT G e gl
Maximum Number of electron found in a shell of atom depend on the formula is ......................
3. &I dfeT PIRTHT & T Tl T Bl cveeeerrrerirenens HEd Tl
The Gap between Two neuronsiis called .......................
4. ATB P AW forar|

6CO, + 12H,0 A Ce H12,06 + 60,

B
Write Name of A & B in this equaction.
6CO;, + 12H,0 A Ce H1206 + 60,
B

This symbol used ----------—-—- components in above diagram.
6. faga ST TS HHT BT e, Hoit # gEel 2 |

An Electric Generator converts mechanical Energy to .........cceceeune...

Jtfaeryg wea
Very short answer type

Q3
1. SFagor STfafsmar 9 19 391 99 © 2

What do you mean by a precipitation reaction?



2 eI fded & PH &1 99 forn |
Write the value of PH of Neutral solution.

s THg urg < <1 31X ot |

Write two examples of Alloy.

4 WO @] Solag™ o9 WAl 99RY |

Draw a electron dot structure of Methane
5. HScllth &! 3MMad AR & BIs TH HHI IRy |

Give one limitation of Midlives of Periodic Table.

6. TR BT Aol ARTED BT DI AN HaT 7
Which part of Brain maintain balancing of Body.
7. R H UIY SM aTel ol BRAM &1 4 fofay |

Write one Human Male Sex Hormone.

8. fag]d URuer # diecHley BT BRI IATSY |

Write the uses of voltmeter in Electric Circuit.
0. BE FRID B dARI AR JRDIY EEERIT BT 3 131 |
Draw a Magnetic field line around a Bar Magnet.
10. STTATeR SEM & a7 IareRl ffy |
Write two examples of fossil fuel.
1. 3T URT BT U o o |
Give an Advantage of ozone Layer.
12. FAHT & aWER 99 ¥ SF[aT faa! faem &1 aemar ¢ |
In Flaming left hand rule, thumb indicate which direction.

Yusg B
Section B

4, TIE I S H FEH F faw < ww wared |
State two ways to prevent the rusting of iron.

5. BN B ol JIR®UT B A9 forer |

Write any Two Allotropes of Carbon-

6. FARIST &1 =T T T S91ST |



Draw a labelled diagram of formation of Micellas,
7. 3Tad AR # I F M W W WA 1 a4t ved 77

The Atomic Radius decrease in moving from left to Right in periodic table. why ?
8. TR ¥ Uy ST dTel 3%l T M G B IRy |

Write the name and function of Acid which secretes from Human Stomach.

9. @I {5 PHEd T 9 TIBT BRI IR |

Define Placenta ? What is the Role of placenta

10. J9 &I I Pl HT 7 I=Y |
Draw a Labelled diagram of the longitudinal Section of a to flower.
11. o @I &MdT BT GF AR AFS fora |
Write the formula and unit of Power of Lens.
12. fH0 AT BT UFORET - BRI W R FRa1 21 (@1 <)

Write any Two factor on which Resistance of a Conductor depend.

13. fagd gRuer dorm AR 3 AWM SUANT 81 dTel &1 JReTl Sur oy |
Name Two Safety measures commonly used in eclectic Circuit and appliances

14. FDHIT &3 B M AT IR BT IR0 T S M forln |
Write the Left hand Thumb full to find direction of Magnetic field.

15. QU Y foga uRyer & uftomd gfwre fham €2

20 2Q

Hil=
What will be the resultant resistance in the given electric circuit?

2Q 20

il

16. oI & TAIBRONY Il IR ATAIHRUNI A DI qRATST AT |

Define the Renewable source and Non Renewable sources of Energy.
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Section C

A SIRIAD YT+ —

Long Answer Type Question -

17. ARGh WTE YRl Bl fAGafedr ¥ 9=+ &1 Udh Sur for |

Cuo+H, —» cu+H,0F fhd TRl BT T=T AR fhdAwT SU=I= Bar 87

What is done to prevent rancidity in Food Containing Fats.

CuO + H, = Cu + H,0 in above reaction which substance being oxidised and which substance reduced. [1+2=3]

18. I9d ¥ MR U A fHeper aTel BRAM BT A9 T BRI foral | S9hI H4 I 8N
el YT R A forfRav |

Write the name and function of hormone secreted by Pancreas Gland-.Write the name of disease due

to its deficiency- [1+1+1=3]

19. 99 H folfT IR0 BT AR IR ST 3RG fad i 911y |
Explain Sex determination in human and Draw a Ray diagram. [2+1=3]

20. (a) ST 3 QW & AR & oY HIFAT o BM AT ©
(b) qITET T I & T I BT T AT T e 2 |

(a) which Lens used to remove far sightedness defect of vision.

b) why the Sun appear Reddish at the time of Sunrise and sunset. [1+2=3]

s §
Section D
21. 2. RS o1 &1 THRING GF T D TH STANT forar |
b. 4T ST BT IS T T BIs (H SUINT forl |
c. 37T TN &R | pls of IR foraT |

a. Write Chemical formula of Bleaching Powder. Give One uses of Bleaching powder.
b. Give chemical formula and One uses of Baking Soda
c. Give two differences between Acid & Base. [2+1+1=4]

3RIdT oRrR

(a) FrfafEa =1 gafad w—



A. Ha (i) eeft=w e

B. SATereT (il) TeRIfae o1
C. <A HEFH (i) fafeer e
D. SA (iv) H9ATs ot

(b) gTEF |l 1 THEF 3 9 <1 ST foal |

(a) Match the following-

A. Orange (l) Tartaric Acid

B. Amla (ii) Ascorbic Acid

C. Nettle Sting (iii) Citric Acid

D. Tamarind (iv) Methanoic Acid

(b) Write chemical formula of washing soda and gives its two uses.

22 a. 99 § Sqoi Y Hed 2| A9 SHoiT dF BT AMifhd T g9 |
b. AT ¥ 3ATE (SAfeTRT<) fohar &1 FAH=I=y |

a. Define Execration in human . Draw a labelled diagramed of Human Excretory system in Human
b. Explain Dialysis Mechanism in human
3RIATOR

i. g9 | 9IS BT U Y hed 20 Td Ut O BT Ak e 4RI |
ii. WIS & YT IR T U BRI g1al |

i. Write the meaning of digestion in Human. Draw a labeled diagram of Human digestive system.

ii. write the Role of saliva in digestion of food.

23. (a) STFqe U1 gRT Wfdferal o1 foror ST a1sit Safh asg wishs F R feed g1

(b) STk T SuRR Ffafars ® <1 1= fafem |

(a) Draw a ray diagram for a concave mirror, if the object is placed at focus.
(b) Write two differences between real image and virtual image

Srrar
(a) ST T g = el wiaferst w1 fopor fom smedt stafe fover =0 feufa ‘o’ WET
(b) S9UT o o9 H < 3= fafau|

[1+2+1=4]

2+1+1=4



(a) Draw a ray diagram for a convex lens when the object is placed at infinity.

(b) Write two differences between mirror and lens.



